
Bulletin Date:

TTI Model Number: 018 526 006, 007, 008 Starting Serial Number:

 M12 FUEL™ ¼’’ HIGH SPEED RATCHET VERSION A - 

M12 FHIR14
SERVICE PARTS DIAGRAM Mar-21

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 526 006, 007, 008 Starting Serial Number:

 M12 FUEL™ ¼’’ HIGH SPEED RATCHET VERSION A - 

ITEM PART NUMBER PART DESCRIPTION QTY (PCS)

2 698670001 YOKE 1

3 698769001 BUSHING 1

4 622072003 CRANKSHAFT 1

5 - YOKE HOUSING WITH BEARING 1

6 673021003 DRIVE PIN 1

7 - CARRIER 1

8 - PLANET GEAR 3

9 - RING GEAR 1

10 - WASHER 1

13 644096001 MOTOR PLATE 1

14 662573001 M2.5 X 31MM SKT. HD. HEX DRIVE SCREW 3

15 661031003 M3 X 8MM PAN HD. TAPTITE T-10 SCREW 1

16 660213029 M4 X 14MM FLAT HD. ST T-20 SCREW 4

17 941123312
RATING LABEL

018526006, 008 ASIA VERSION
1

17 941123323
RATING LABEL

018526007 ONLY JP VERSION
1

18 660436004 M4 X 10MM PAN HD. ST T-20 SCREW 5

19 - HANDLE COVER 1

20 - HANDLE SUPPORT 1

21 673021004 SPRING PIN 1

22 541158001 SWITCH LOCK-OUT 1

23 941300217 FUEL GAUGE LABEL 1

24 633822001 SWITCH PADDLE 1

30 - 1/4" ANVIL W/ STANDARD SHIFT KNOB

31 696037001 FRICTION PLATE 1

32 637985001 C-RING 1

101 204564004 1/4" ANVIL SERVICE KIT STANDARD 1

102 208670001 YOKE HOUSING SERVICE KIT 1

103 208668001
ROTOR SERVICE ASSEMBLY

018526006, 008 ASIA VERSION
1

103 208668002
ROTOR SERVICE ASSEMBLY

018526007 ONLY JP VERSION
1

104 208669001 ELECTRONICS SERVICE ASSEMBLY 1

105 204525024
HOUSING SERVICE KIT

018526006, 008 ASIA VERSION
1

105 204525026
HOUSING SERVICE KIT

018526007 ONLY JP VERSION
1

106 208675001 GEAR SET SERVICE KIT 1

121 903210033 CONTRACTOR BAG 1

1200 - GREASE 1

1201 - GREASE 1

M12 FHIR14
SERVICE PARTS LIST Mar-21

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 526 006, 007, 008 Starting Serial Number:

 M12 FUEL™ ¼’’ HIGH SPEED RATCHET VERSION A - 

M12 FHIR14
SERVICE INSTRUCTION Mar-21

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 526 006, 007, 008 Starting Serial Number:

 M12 FUEL™ ¼’’ HIGH SPEED RATCHET VERSION A - 

M12 FHIR14
SERVICE INSTRUCTION Mar-21

www.milwaukeetool.asia


